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How can we find a case of 1% which the Torah exempts by fire

OVERVIEW

"X asked how is it possible (if we maintain 1°X77 21w WX) that 11720 should be w5
by wx.> Our mooIn explains why wXa 7wd7 1mu is (better) understood if we
maintain 177 DIWH IWR.
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The explanation of why there is a question only on the 7" that 1°¥1 2w» WX (how
can there be a MWD of WX2 NNY) is, it is justified that according to the one who
maintains %% 2mwn WK, it is not incomprehensible that 117w is 7w by wx -

mooIN anticipates that one may argue that even if 1M1 01w WX there should be no Mwd of NNV
wR2 -
- 41”2\9 291 999 )W 199 9125 19999 P D527 2) DY 4N

For even though one may ask by all damages caused by his property, like 399

5371 12 one is liable for 1MW, so even if we maintain Mnn DWwn WK, there still should be a
21 of WX 1Y, just as there is by the other 2°p>m of 11N —

mooIn replies that we cannot compare X1 21N to 110 DIWH:
= )PMavNY 939 IV 1P DIPIDIN 13981 1ININAY

For regarding the liability of a person to pay for damages that his ‘money’ causes

we find differences by %371 32,197 according to their respective rules -
- Y89 NN Y89 729197 1IN0 YN XY *ortnn DNa Yax

' See “Thinking it over’ #1.
2 See "1 1"7 *"w who writes; PTIa 2°0M XY 1MV PTM PRPT TR K if a person would damage a 11v item with
his arrow, will he not be liable?!
? The term w1 (in this instance) indicates that seemingly there is a difficulty in understanding the X3 (which
moon will shortly mention [...3"v&1]) which needs to be addressed.
* mooin may be asking that it is a Twn1 nn; if we say that since X1 27Wwn WX (which is [like] 2717 07X) and by 1xn
(as by 171 07X) there is no 75 of 7MWY, so how can there be a Mwd of wXa 1My, To this approach NvoIN asks; even
if we say 1Mmn 0wn WR, but since we never find a Mwd of 1Y by 1N, how can there be a Mo of wXa ML?!
Therefore we seemingly must say that is a 2127 n7°1a that 1M is WX2 MWD, so even if we say %7 DWn WX,
nevertheless it is a 210377 nN7°13, so what is the question.
5 1P pays only a 1"n, %371 1w are oMo in the 1"7N, etc. We see that although 937 3w 11p are included in 1w,
nevertheless they are each unique in their individual m3%7. Therefore we can say that wX also has a unique ruling
that it is 7109 by 0.
% See “Thinking it over’ # 2.
719,82 (2*vown) NMmw.
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However regarding 17277 278, the 710 did not differentiate in his obligation to
pay, for it is written ‘a wound for a wound’ -
- 51895 DN 1129 AIYN YY 29N (3,9 91 1959 9103 15U
And we interpret this 7105 at the end of our ?95 to mean that he is liable for a
A just as for a 7o, and for an o1 just as for 1139 -
580 BIVN IWN W97y XA P T79%9Y

Therefore it is not logical to interpret that Y2 is liable 21 2%n; since Wwx is Mwd
for 7mv, which cannot apply to X1 (since it is P77 07X, where he is 2»n under all
circumstances).

SUMMARY

We can understand the M5 of wX2a 110 if 1Mnn DR WK, since the various 1172 of
11 have their unique M2%7. However by (°1an 07X) 1, there is always only a
21°17, no exemptions.

THINKING IT OVER
1. According to (°"w and) mdoin that the question of ™R was why is MWD NNV
wxa,'' why did not the X3 say so clearly, wXa 219 11mb ¥17; why is the question

phrased, 72 nnawn *2°1 191 wRa P ?! '

2. Seemingly even if ¥¥m wn WK, it does not mean that wx is e o7, " for we
have a separate 2X for wX. Why is it so difficult to accept that even though it is
X1 0Wwn, nevertheless since it is a separate 2X, there is a 7o of WX2 ]mm?!14

3. Granted that by P> 27X the rule is 121 712 3mw;" but how does that mean that
there cannot be a Mo of WX2 ]17313?!16

¥ 2w means inadvertently; T mean with premeditation; 03X means against his will; 11 mean willingly. 7 and
1% are seemingly the same; however 717 contrasts (better) with AW, and 71¥7 contrasts (better) with 01X,
? Since we find the 7 is so strict regarding P> 07X; that there are no exceptions (as there is by P Iw Wn) it is
assumable that 710 cannot be 71v5. See ‘Thinking it over’ # 3.
19 See yam 27 7"7 X,20 'own, that it is possible that the P05 of 7°¥a7 NX TPyam7 0Yw° may interpreted to mean
something other that 1"¥r 0wn WX, Since we run into a difficulty regarding 110 if %1 01Wwn WX, we should interpret
that P05 for something other than 1°¥r1 own 1WX.
' See footnote # 1 & 2.
' See TMm9NA WIoN MWK # 5.
" See footnote # 6.
' See 1p MR 7T OnY N
1% See footnote # 9.
16 See »2°71 7"7 *"w 1"72 wn N and VP MK D1 A
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